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PCR DNA
The challenge of an alternative lubrication material synthesizing by multiplying

DNA under PCR method
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To obtain artificial lubricant, DNA oriented from flora is expected to be
alternative material of lubricant. The polymerase chain reaction (PCR) is one of the potential
method to increase molecule. It was expected that in-situ observation of those DNA included
lubricant with friction test could unearth the effect of those DNA on reduction of friction
coefficient. Some of functional group is expected to absorb on a glass surface, then it acts to
reduce friction force. To clarify the effect of those DNA on reduction of friction force,
measurement of those absorbed materials by ultra-violet light is potential method to proof an
existence of those absorbed molecule.
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